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s | 2K 7 A
f5) T —TH 826 1,721 851 870
J5) T —TH 526 1,237 612 625
J5) T =TH 744 1,607 835 772
%k /NE % % 2,096 4,565 2,298 2,267
aPm —TH 1,205 2,476 1,202 1,274
F=aalii| —TH 1,145 2,208 1,058 1,150
AEm ZTH 1,320 2,662 1,315 1,347
F=aalii| Lt E| 817 1,935 969 966
* sk /pNE % % 4,487 9,281 4,544 4,737
Feyars —TH 954 1,917 907 1,010
Feyars —TH 858 1,695 816 879
Feyars =TH 1,652 2,966 1,397 1,569
Feyars T A 1,066 1,749 864 885
%k  /NE % %k 4,530 8,327 3,984 4,343
HEF)I] —TH 978 1,970 975 995
HEF)1] —TH 667 1,599 806 793
HEF) 1] =TH 1,144 2,528 1,227 1,301
HEF)1] T HE 932 2,003 997 1,006
% x  JNE * %k 3,721 8,100 4,005 4,095
[EEsIl —TH 865 1,825 896 929
[EEsIl ~TH 716 1,590 740 850
PEE I =TH 364 835 386 449
PEE I T HE 1,372 2,892 1,444 1,448
%k /hEf * % 3,317 7,142 3,466 3,676
* k 2EAE * *x 41,769 82,048 39,822 42,226

. A0
T | Ak 7 I
FORAHT  —TH 2,897 6,094 2,842 3,252
FIRARRT  —TH 720 1,498 722 776
FIRARRT  =TH 1,167 2,577 1,258 1,319
FOIRAHT YT H 2,140 3,696 1,606 2,090
*k  /NEE kok 6,924 13,865 6,428 7,437
WD IR —TH 1,100 1,978 979 999
WD IR —TH 980 1,990 993 997
WD IR =TH 1,462 2,851 1,386 1,465
HHFNIR I HE 669 1,455 719 736
HHFNIR T H 1,827 3,653 1,854 1,799
* %k pE Ok ox 6,038 11,927 5,931 5,996
[ERSIEN —TH 793 1,181 596 585
[ERSIEN —TH 506 975 443 532
* k% /pE k% 1,299 2,156 1,039 1,117
JEFIR —TH 727 1,175 551 624
JLFNIR —TH 756 1,519 745 774
JLFNIR =TH 558 876 445 431
% x  /EF k% 2,041 3,570 1,741 1,829
FOFNIR —TH 1,936 3,029 1,390 1,639
FOFNIR —TH 725 1,198 581 617
FOFNIR =TH 941 1,693 807 886
FOFnIR T HE 384 591 288 303
%k pE k% 3,986 6,511 3,066 3,445
Ll —TH 583 1,106 571 535
Ll ~TH 740 1,549 791 758
Ll =TH 1,418 2,732 1,353 1,379
Ll WTH 589 1,217 605 612
%k pE k% 3,330 6,604 3,320 3,284




